HENIEL &

r3

AT

B ROFEXLELL,

D 12+(9-7)+8 =

@ (2X3+9)x4 =

@ (5+6X2)x3 =

@ 56+7—6+3=

® 6%x(9-3-3)=

®(7T+18+-6)x2=

@ 2X(9—6)+3 =

®8+(5—-1—-2)=

@ 3+(6—-25+5)=

0 64+-8+12+2=

/20

(D6+5—2+6=

@((5x2-6)xX4=

®I10-1—-(8—2)=

@ 26-3-9-9 =

® 26— 6—(9+4)=

5—(9—-6)+8=

D 6X2+6X%X3=

®6—-(7-3—1)=

@ 4+2%x(5-3)=

@ 1+(3—-1)+4=




HENIEL &

r3

AT

B ROFEXLELL,

DO 12+(9-7)+8 =

@ (2X3+9)x4 =

60

@ (5+6X2)x3 =

51

@ 56+7—6+3=

® 6%x(9-3-3)=

®(7T+18+-6)x2=

20

@ 2%x(9-6)+3 =

® 8+(5—1-2)=

@ 3+(6-25+5)=

0 64+-8+12+2=

/20

M6+5—-2+6= 15

@(5%X2-6)xX4=]| 16
®10-1—(8—-2)=| 3
@26-3-9-9=| 5

®26—-6—(9+4)= 17
®5-(9-6)+8=| 10
@M 6x2+6%x3= 30

®6—-(7-3—-1)= 3
@ 4+2%x(5-3)=| 4
Q1 +(3-1)+a=] 7




